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QUESTION 1

Flashback Data Archive has been configured to retain data on all transactions that modify a table for a
period of four years.

Three years later, it is decided to change the retention period.

You execute this command:

SQL> ALTER FLASHBACK ARCHIVE fdal MODIFY RETENSION RETENTION 2 YEAR,;
Which is true?

A. An error is returned because the retention period cannot be reduced.

B. Data from the first and third years is purged from the flashback archive FDAL.

C. Flashback archive FDA1 retains all data and the retention period is increased by 2 years.
D. Data older than two years, if any, is purged from the flashback archive FDAL.

E. Data from the third year is purged from the flashback archive FDA1.

Correct Answer: C

QUESTION 2

Which three RMAN persistent settings can be set explicitly? (Choose three.)
A. archivelog deletion policy

B. SPFILE backup duplexing

C. image copy duplexing

D. archivelog backup duplexing

E. redo log backup duplexing

F. controlfile autobackup formats

Correct Answer:. ACF

QUESTION 3
Examine these actions:
1.

Log in to CDB$ROOQOT as a user with the SYSDBA privilege.
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2.

Log in to the PDB as a user with the SYSKM privilege.
3.

Ensure that the CD keystore is open.

4.

Ensure that the CDB keystore is closed.
5.

Export the PDB key information.

6.

Export the CDB key information.

7.

Shut down the CDB.

8.

Shut down the PDB.

9.

Unplug the PDB.

Which of these are required to unplug an encrypted PDB?
A.2,3,6,8

B.2,4,5 7

C.1,3,5,7,9

D.1,4,5,7,9

E. 1,359

F.1,3/58,9

Correct Answer: C

Reference https://blog.dbi-services.com/unplug-an-encrypted-pdb-ora-46680-master-keys-of-thecontainer-database-
must-be-exported/

QUESTION 4

Identify three scenarios in which RMAN will use backup sets to perform active database duplication. (Choose three.)
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A. when the duplicate ... from active database command contains the section size clause
B. when you perform active database duplication on a database with flashback disabled
C. when you specify set encryption before the duplicate ... from active database command

D. when the number of auxiliary channels allocated is equal to or greater than the number of target channels E. when
you perform active database duplication on a database that has read-only tablespaces

Correct Answer: ACD

Reference: http://docs.oracle.com/database/121/BRADV/rcmdupdb.htm#BRADV298

QUESTION 5

View the SPFILE parameter settings in the Exhibit.

You issue this command and get errors:

SQL> startup ORA-00824:cannot set SGA_TARGET or MEMORY_TARGET due to existing internal settings, see alert
log for more information
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Why did the instance fail to start?

A. because pga_aggregate_target is not set

B. because statistics_level is set to basic

C. because memory_target and memory_max_target cannot be equal
D. because sga_target and memory_target are both set

Correct Answer: B
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